
https://www.passapply.com/1Z0-531.html
2021 Latest passapply 1Z0-531 PDF and VCE dumps Download

 

 

 

1Z0-531Q&As

Oracle Essbase

Pass Oracle 1Z0-531 Exam with 100% Guarantee

Free Download Real Questions & Answers PDF and VCE file from:

https://www.passapply.com/1Z0-531.html

100% Passing Guarantee
100% Money Back Assurance

Following Questions and Answers are all new published by Oracle
Official Exam Center

 

 

1Z0-531 Study Guide | 1Z0-531 Exam Questions | 1Z0-531 Braindumps                                1 / 7

https://www.passapply.com/1Z0-531.html
https://www.passapply.com/1Z0-531.html
https://www.passapply.com/1Z0-531.html


https://www.passapply.com/1Z0-531.html
2021 Latest passapply 1Z0-531 PDF and VCE dumps Download

QUESTION 1

Changing a dense dimension member from stored to dynamic causes________. 

A. a Full restructure 

B. an Index restructure 

C. an Outline restructure 

D. No restructure 

Correct Answer: A 

These types of restructure operations are listed from fastest to slowest: 

*

 Outline only (no index or data files) 

*

 Sparse (only index files) 

*

 Dense (index files and data files) as a result of adding, deleting, or moving members and other operations. 

*

 Dense (index and data files) as a result of changing a dense dimension to sparse or changing a sparse dimension to
dense (A) 

 

QUESTION 2

Your current block storage option design includes two dimensions: Markets and Regions. The Market dimension looks
like: 
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Users need to be able to report by both regions and markets. Subtotals for Northeast and Southwest will display on
some reports. 

A. Add another level to the market dimension for Northeast with North and East as children and Southwest with West
and South as children 

B. Add an alternate hierarchy to the market dimension with the states as shared members, rolling up to Northeast and
Southwest 

C. Create a UDA with members Northeast and Southwest (associated to states in the Market dimension) 

D. Create an attribute dimension with members Northeast and Southwest (associated to states in the Market
dimension) 

E. Create a Text list with the values containing the members Northeast and Southwest. 

Correct Answer: C 

Essbase supports this concept called UDA\\'s wherein one can assign the same attribute to multiple dimension
members so that one can do cross dimensional attribute analysis. For example, if you take the default Sample-> Basic
database you would notice that the Market Dimension members would have some UDA\\'s assigned to it like Major
Market, Small Market etc. 
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Note: user-defined attributes (UDAs). 

 

QUESTION 3

Identify the two true statements about materialization in ASO. 

A. When performing an incremental data load, aggregate views are updated 

B. The database is not available during materialization 

C. Materialization can be tuned via query hints and hard restrictions defined at the database level 

D. Materialization scripts can be saved for future reuse 

Correct Answer: AD 

The following process is recommended for defining and materializing aggregations: 

*

 After the outline is created or changed, load data values. 

*

 Perform the default aggregation. Do not select specify a storage stopping point option. 

*

 Materialize the suggested aggregate views and save the default selection in an aggregation script. 

*

 Run the types of queries the aggregation is being designed for. 

*

 If query time or aggregation time is too long, consider fine-tuning the aggregation as stated below. 
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*

 Save the aggregation selection as an aggregation script (D) 

 

QUESTION 4

The following two members would be optimally tagged Label Only. 

A. "Profit" 

B. "Rations" 

C. "Scenario" 

D. "Q1" 

E. "January" 

Correct Answer: BC 

Label only is a tag that you can apply to a member to indicate that : 

*

 you don\\'t want to store data. 

*

 the Members do not have data associated with them. 

Use Label Only for member like Scenarios, Ratios, or Drivers, members whose sole purpose in life is to organize the
dimension and hierarchy. 

Note: 

Although a label only member has no data associated with it, it can display a value. The label only tag groups members
and eases navigation and reporting. Typically, label only members are not calculated. 

For example, in the Measures dimension, the member Ratios has three children, Margin%, Profit%, and Profit per
Ounce. The member Ratios defines a category of members. When consolidated, Margin%, Profit %, and Profit per
Ounce do 

not roll up to a meaningful figure for Ratios. Hence, Ratios is tagged as label only. 

 

QUESTION 5

Which two are Essbase components? 

A. Essbase server 

B. Administration services 

C. C API 
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D. Web Analysis 

E. Financial reporting 

Correct Answer: AB 

Incorrect answer: 

C API is not a component of Essbase. 

Web analysis and Financial reporting are both parts of Hyperion, not Essbase. 
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